
A B C D

1

2

3

T
h

is
 d

o
c
u

m
e

n
t 

a
n

d
 t
h

e
 i
n

fo
rm

a
ti
o
n

 i
n
 i
t 
c
o
n

ta
in

e
d
 a

re
 p

ro
p

e
rt

y
 o

f 
L
E

IS
T

E
R

 a
n
d
 a

s
 s

u
c
h
, 

th
e
y
 a

re
 t

o
 b

e
 c

o
n
s
id

e
re

d
 r

e
s
e

rv
e

d
.

T
h

e
rf

o
re

, 
a

n
y
 r

e
p

ro
d
u

c
ti
o

n
 i
n
 a

n
y 

fo
rm

 o
r 

b
y 

a
n
y
 m

e
a

n
s
, 

w
it
h
o

u
t 

p
ri
o

r 
w

ri
tt

e
n

 p
e

rm
is

s
io

n
 o

f 
L
E

IS
T

E
R

 i
s
 f
o
rb

id
d
e

n
.

c

Leister Technologies AG
Switzerland 020.917 A

 -

Mechanics UNIFLOOR 500
21.01.21 Küng, Pascal

06.04.21

Sheet

ofDate

Revision

Material:

Format  Scale Drawing number

Date

Checked by

Drawn by

Volume:

Model: 020915-0001.asm

Di Miceli, Giuseppe

1:5

1

1

A3

114

103

105

17

16

12

15

8

11

9

37

10

19

38

7

18

125

123

126

33

20

32

34

24

28

128

31

22

26

30

29

35119

120

14

15

2

4

5

13

118

112

6

3632

40

39

21

 @ 127

 @ 116

 @ 117

 @ 104

 @ 109
 @ 115

 @ 101

 @ 113

 @ 118

 @ 106

 @ 102

 @ 101  @ 129

27

130

121
114

116

 @ 102

 @ 117

 @ 124

23

13

25

 @ 118

Pos Name Standard Material Leister Bossard
101 Hex socket cap screw M6 x 12 ISO 4762 A2 113.320 1233343
102 Hex socket cap screw M6 x 14 ISO 4762 A2 120.657 1432249
103 Hex socket cap screw M6 x 30 ISO 4762 A2 100.927 1032844
104 Hexagonal nut M6 x 5 ISO 4032 A2 100.369 1241494
105 Hex socket cap screw M6 x 20 ISO 4762 A2 101.113 1233378
106 Hex socket cap screw M6 x 50 ISO 4762 A2 141.462 1421964
107 Hex socket cap screw M5 x 12 ISO 4762 A2 100.373 1233289
108 Hex socket cap screw M5 x 20 ISO 4762 A2 101.025 1233300
109 Hex socket cap screw M4 x 6 ISO 4762 A2 120.808 1233173
110 Hex socket cap screw M3 x 10 ISO 4762 A2 120.426 1233122
111 Hex socket cap screw M4 x 25 ISO 4762 A2 121.914 1032739
112 Countersunk screw M5 x 8 ISO 10642 A2 143.792 1208187
113 Hex socket cap screw M5 x 10 ISO 4762 A2 126.202 1233270
114 Washer M5 (5.3/10/1) ISO 7089 A2 140 HV 100.123 1253212
115 Hex socket cap screw M5 x 40 ISO 4762 A2 121.014 1421948

Pos Name Standard Material Leister Bossard
116 Countersunk screw M5 x 12 ISO 10642 A2 103.368 1235257
117 Set screw M4 x 12 ISO 4026 A2 123.931 1235648
118 Countersunk screw M3 x 8 ISO 10642 A2 121.628 3061684
119 Hex socket cap screw M4 x 10 ISO 4762 A2 120.809 1233203
120 Hexagonal nut M4 x 3.2 ISO 4032 A2 100.617 1241478
121 Countersunk screw M5 x 16 ISO 10642 A2 112.390 3061705
122 Hex socket cap screw M4 x 14 ISO 4762 A2 156.670 1111353
123 Spring washer M4 4.3/8/0.5 DIN 137 A 1.4310 107.733 1250140

Pos Name Standard Material Leister Bossard
124 Pan head cap screw M4 x 12 ISO 7380-1 A2 120.997 1348825
125 Washer M3 (3.2/9/0.8) ISO 7093 A2 140 HV 102.275 1117122
126 Hex socket cap screw M5 x 30 ISO 4762 A2 120.810 3092533
127 Hexagonal nut M5 x 4 ISO 4032 A2 100.377 1241486
128 Sicherungsscheibe Welle ø10 DIN 6799 1.4116 168.842 1254588
129 Hexagonal nut M5 x 2.7 ISO 4035 A2 134.914 1241842
130 Retaining ring for shafts ø10 DIN 471 1.4110 101.154 1254871

@   Loctite 242 Medium strength threadlocker

Schraubensicherung mittelfest

Standard components can no longer be ordered as a single unit.
They are only available on request and restricted to a minimum order quantity.

 @ 122

 @ 122

 @


